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QUESTION 1

Which of the following flow shapes should be used to route a work item? 

A. Router 

B. Utility 

C. Decision 

D. Assignment 

Correct Answer: D 

Section: (none) 

 

QUESTION 2

In Designer Studio, the Application Explorer displays ____________________. 

A. the data structure only 

B. the class tree and rules organized by the classes they apply to 

C. all the rules used by all applications 

D. the class structure only 

Correct Answer: C 

Section: (none) 

 

QUESTION 3

Review the following decision table. 
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If the credit score is 800 and the outstanding balance is 1000, what is the result of the decision? 

A. Level3 

B. Level1 

C. Reject 

D. Level2 

Correct Answer: D 

Section: (none) 

 

QUESTION 4

In a Pega application, a case type corresponds to which construct? 

A. An application 

B. A class 

C. An implementation 

D. A ruleset 

Correct Answer: C 

Section: (none) 

 

QUESTION 5

A case stage can be ____________. (Choose two.) 

A. skipped, based on the result from a decision table 
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B. entered only if all validation requirements are met 

C. exited only when all subcases are resolved 

D. skipped, based on a specified condition 

Correct Answer: BD 

Section: (none) 
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